[N
<
IJIII_.

a(d cot(B))

H
S
o

(8 ) (rad)

1072
1072

3 -2 -1 0 1 2 3 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT__ORIGINAL

—— DQM_TT__MODIFIED_layerProcv2_PRVersion

= -

1] 1S Fioi:

[3) = F:

- ~ - -

-~ = [

= - [

p o

o 2 i EER R LR PP EPPE
s [s]

=3

107t 107}

T T 11117

1072 1072

.910;%_. .910\—;5_...i. ||||
A O T
[ad L o L 4 1 :| 1
1H =11 T ||||||||||||||||
0.95! 0.957—-25 0 1 2 3
TP n (PCA to beamline)
n= 1::
Q_ L .|
- F
o n
o L]
5 L

23 -2 -1 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


